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There are 20 questions in this paper and the total score is 100.
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Unless otherwise stated, all numbers in this paper are in decimal system.
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Each answer must be given in the form of an integer between 0 and 9999. Follow the

instructions on the answer sheet to enter the answers. You are not required to hand in your

steps of working.
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The use of calculators is not allowed,
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The diagrams in this paper are not necessarily drawn to scale.
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Note: Each answer must be given in the form of an integer between 0 and 9999. Where necessary,

the answer should be rounded off to the nearest integer in the above range. Read the instructions on
the answer sheet in detail.
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If the product of » prime numbers is 2015, find the value of .
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If n is & three-digit odd number whose sum of digits does not exceed 16, find the

maximum possible value of .
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There are two squares on the plane and their corresponding sides are not parallel.

At most how many points of intersection do they have?
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The numbers 1, 2, 3, 4, 6, 12 are written on the six faces of a red die, while the
numbers Z, 3, 4, 5, 6, 8 are written on the six faces of another blue die. The two
dice are now thrown. If the product of the numbers obtained is 12, how many
different possibilities are there?
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A number is put inside each cell of a row of 2015 cells. If the number in each cell

does not exceed 3 and the sum of numbers in any 3 consecutive cells does not
exceed 7, find the greatest possible value of the sum of numbers in all 2015 cells.
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11.
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If all positive integers with tens digit 1 are arranged in ascending order, what is the
position of 2015?
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A triang!s has side lengths 16, 30 and 34. If its largest interior angle is x°, find x.
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There are many piles of coins. It is known that the first pile consists of 3 coins.
Each subsequent pile contains one more coin than twice the previous pile. How

many coins are there in the 10th pile?
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How many four-digit positive integers have product of digits 60?
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How many four-digit positive integers are divisible by 7 but not 13?
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In the multiplication shown, each letter represents a A ABD

different digit from 0 to 9. Find the four-digit number C ED
represented by ABCE. A F ?7 ED
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When a positive integer is divided by 6, 15 and 60, the remainders are 2, § and »
respectively. Find the greatest possible value of n.
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Let a, b, ¢, d, e be positive integers where 2<a <b<c<d <e<100. If these five
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positive integers form a geometric sequence in this order, and that the H.C.F. of a

and e is 1, find the value of c. (6 marks)
In the figure, the larger circle is inscribed in 2 square. The /

smaller circle is tangent to the larger circle and two sides of \

\ﬂ (653
the square, If the larger circle has radius 60, find the radius
of the smaller circle. (6 marks)
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Two opposite vertices of a square have coordinates (0, 0) and (10, 10) respectively.
Two lines which pass through (3, 4) and which are parallel to the two diagonals of
the square respectively cut the sgueare into four parts. Find the arez of the largest
part. (6 marks)
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The figure shows an isosceles trapezium whose upper
and lower bases have lengths 16 and 40 respectively. /

When semi-circles with the two legs as diameters are

constructed towards the interior of the trapezium, the
two semi-circles turn out to be tangent to each other.
Find the perimeter of the trapezium. (6 marks)
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17.

18.

19,

20.

99° +100° 97°+99° 95° 498} 1 +51°
3 5t 3 7t 3 y Fret = 3
1*+100 2°4+99° 3P 498 50° +51
99° +100° 97°+99° 95°+98} 1’ +51°
3 3t 3 53 7t 3"
1 +100 224+99° 3 4+08 50° +51
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Find the value of
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A 4x4 table is printed on a game card. The participant has to fill in the numbers

to 16 into the 16 cells of the table such that there is exactly one number in each cell.

The master of the game will then randomly draws 7 lucky numbers from 1 to 16. If
4 of the lucky numbers lie in the same row or the same column, the participant can

win z prize. If the probability of winning a prize is % in lowest form, find the

valueof a+5.

23 64
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e ] 23 m 64 )
If positive integers m and n satisfy —5(—) <—< —139 , find the smallest possible value
n

of n.
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If the iast three digits of the square of a positive integer are the same and nonzero,
we say that the positive integer is ‘good’. For example, since 38° =1444, so 38 is
‘good’. If we arrange all ‘good’ numbers in ascending order, what is the second

number?

24850
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